LL SECTIONS TO BE (ANSWERED ON THE QUIIST ION PAPER IN THE SPACE

BRIGIDINE COLLEGE

MATHEMATICS

YR 9 HALF-YEARLY EXAM 2017
TIME ALLOWED: 50 minutes

Student:

Teacher:

LOVIDED.
Section .Marksr ) Student’s mark
Statistics 20 . ‘
Indices & Probability .13
Geometry & Number 14 ©o
" New- Colentater U —

All necessary working MUST be shown in Short/Extended response sections.

Black/blue pers MUST be used for all workmg and answers.

Calculator aIIDwed

1

SECTION 1: STATISTICS Teacher:

YEAR 9 HALF-YEARLY 2016 Student:

MULTIPLE CHOICE: CIRCLE THE CORRECT ANSWER 20 MARIKS

1. What is the median of 12, 20, 9, 4, 16, 11 and 13?7

2. The mean of five scores is 4. What is the missing score if four of the scores are 2, 5,
Sand 7? .

" Murtwtof pasches' -




5. Ifthe outlier is removed, which of these statements are irue,

. H

456 7 8 8101121314 45 16 17 18
Eeore

A. Themean will not chaﬁge . 8.The medlan will change '

_C.. The mode will not change D. The range will not change

SHORT/EXTENDED ANSWER: SHOW WORKING

6. Use the cumulative frequency histogram and polygon provided to determine the
intergnartile range of the data.
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7.
[Tlass Class Frequency { Cuntulative
“Centre .| Frequency
1-5 : i1
610 1]8
11:-15 . 22
1620 : 10 )
21-25 - 7 ) —j .
a. Complete the class centre and cumudative frequency columas in the frequency

distribution table above.

b. Determine the median class.

8. a. Use the dot plot to find the 5 number summary for the scores.
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b. Use ;rlle 5 mumber summary to construct a box and whisker plot for the scores.

c. Use the box and whisker plot to find the Interquartile range.

d. What percentage of the scores lie between 20 and 227

e. What is the median?

YEAR 9 HALF-YEARLY 2017

SECTION 2: Ind_ices & Probability

Student:_-

Teacher;

MULTIPLE CHOICE: CIRCLE THE CORRECT ANSWER

I,

what is the probability that it is nef a vowel (I or E)?

1
A, 5

1
C. >

‘14 MARKS

If one letter is selected at random from those making up the word EXCITEMENT,

' 3
b. 5

2. If Eis the event “a number less than 3° when a 6-sided die is rolled, then the

complement of this event is;

D.{1,2,3,4)

A.{1,2,3} B,.3,4,5,6) C. {5, 6}
4. (54°b*)* simplifies to:
A. 10a%* B. 25a°* C. 10a°y* D. 25a°5*
5. 2'x2® simplifies to: ]
co2® D. 4

A, 2 B, 2°




SHORT/BEXTENDED ANSWER: SHOW WORKING

6. A card is chosen from a noimal playing pack. Determine the probability that the card

is:

a. The jack of hearts

b. A heart and a picture card

:
7. A coin is tossed and a dice is rolled.

a. List the sample space using a tree diagram.

b. What is the probability of getting a 6 and a tail?

8. Simplify

124t
pLball

2a"

9. Simplify 30+ (3)°

10. Write 364" without the negative index.




_ SHORT/EXTENDED ANSWER: SH OW WORKING

YEAR 9 HALF-YEARLY 2017 - Student:| -
SECTION 3: Geometry & Number Teacher:\ 5. Find the valie of x. )
MULTIPLE CHGICE: CIRCLE THE CORRECT ANSWER 14 MARKS ) NOTTO SGALE
1. A mixed touch football has 4 boys arid 6 girls. The simplest ratio of girls to boys is: w
GHap N | 2 ' :
‘ - - 2
A 2:3 B.4:6 C.6:4 D32 ¢
6. For the diagram shown, determine the value of w . Give a reason for your answer.
2. When $650 is increased by 10% then the result decreased by 10% the finat amount is: h %
' ROt TG
_ . SCALE e
A. $60.50 B. $600 C. $650 D $643.50
"
2

3. 'What is the value of x?

NOT TQ SCALE - :
7.  Find the value of y in the following polygon.

A. 40 B.50 : @ 70 D. 90

4. What is the value of x + y from the diagram? ‘ 8. The exterior angle of a regular polygon is18°. How many sides\
does V¥ havelr

C. 180 D, 230




9. Write 0.61‘} as a fraction.

i0. Complete the equivalent rate;

15m/s =

kmthr {

YEAR 9 HALF-YEARLY 2017 STUDENT:_
NON-CALCULATOR SECTION TEACHER:_
(ISMARKS)

Write ANSWER ONLY in the Answer Column, Show working in the Questmn column,

Question Anpswer

1 [ Simplify - 17000x200=

4 2 | Increase $75 by 10% ¢ -

A -

€4 - - - .

=

The diameter of a mwmscnpm pamcle is 0,000 072 metres, Write
the number in seientific notation. )

4 | Simplify the ratio 32:48

5 | You are making your 6wn dressing for a salad. Here is a recipe for
400-mlllilitres (mL) of dressing.

Salad ol 60 mL
Vinegar: 30 mL
‘ Soy saucs: 10mL -

How many millilitres (mL} of salad oil do you need to make 150 mL of
this dressing?

L

6 | Write an algebraie expression for:
“add twice a to 5 and divide the resulf by 5”

7 | Simplify: 5°+7

8 | A coinistossed 3 hmes There are 8 p0551ble outcomes. What is
the probability of gettmg 2 fails and 1 head in any order?




9 | m anetball competition, each of the 8 teams must play each of the
otherf teams once. How many games must be played?

10 [ Arrange the numbers below in ascending order.

19, 33106 2, 1, 19%
373

Y When ¢ = 4 and w = —4, what is the value of 7+ w7

.12 Find the probability of rolling a 3 on a standard six -- sided die?

13 . .
The area of arectangle is 98 cnr’ .

What is the length of the rectangle; if the width is 7om?" -

14 | A tin contains 15 green, 10 red, 7 black and 18 white jelly beans.
Without Iooking, Jent takes one jelly bean from the tin. What is the
probability that the jelly bean is red?

together equal —30. What are the two nuinbers?

Two numbers added together equal 1. The two numbers multipfied

|

Socuriong

YEAR 9 HALF-YEARLY 2016 Student:

SECTION 1: STATISTICS Teacher:

MULTIPLE CHOICE: CIRCLE THE CORRECT ANSWER 7 20 MARKS

I. What is the median of 12, 20, 9, 4, 16, 1.1 and 13?
LA 131 6,20

A 4 B. 11 @12 D. 13/

2. The mean of five scores is 4, What is the missing score if four of the scores are 2, 5,

5 and 77
D s /

3. From this frequency histogram, the total number of matches played was:

| Macs g

A 17 B. 5

T,
4. The interquartile range of the scores 5,@ 7,@7-,18, , 9 is:
- — .
3 -5H =9 4

o

A 2 @2.5 C. 3




5. Ifthe outlier is removed, which of these statements are true.

[ 3
‘.
. IR}
L L K BN
(%) 1 L [l I L L L I} I it L
| T B NN B S | i~ U r"F 1 7171
4 56 7 B % 10 111213 14 45 16 17 18
Beoe
A. The mean will not change B- rhe median will change /
@ The mode will not change” D. The range will not change

SHORT/EXTENDED ANSWER: SHOW WORKING

6. Use the camulative frequency histogram and polygon provided to determine the
interquartile range of the data,
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Complete the class centre and cumidative frequency columns in the frequency

distribution table above.

a.

b. Determine the median class.

P I
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8, a. Use the dot plot to find the 5 number summary for the scores. s
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b. Usethe 5 number summary to construct a box and whisker plot for the scores.

—_—
—

& HHRPH ¢ W
L5 M 18 26 @ )
c.- Use the box and whisker plot to find the Interquartile range.

% | o

LL—92D0 =7

d. What percentage of the scores lie between 20 and 227

50% 40

e.” What is the median?

on S /@

YEAR 9 HALF-YEARLY 2017 Student:

SECTION 2: Ind_ices & Probability Teacher: .

MULTIPLE CHOICE: CIRCLE THE CORRECT ANSWER 14 MARKS

1. Ifone letter is selected at random from those making up the word EXCITEMENT,
what is the probability that it is not a vowel (I or E)?

it

1 2 t @
A B. % c g .

e

2. 'If Eis the event ‘a number less than 3° when a 6-sided die is rolled, then the

complement of this event is:

A{1,2,3) {3, 4,5, 6} C. {5, 6} | D{1,2,3,4)

N

4. (54°F*) simplifies to:

A, 10a%° 25a°b‘ C. 10a°%* YD, 250%°
. e
5. 2*»2° simplifies to:
A 2 @ 2 c. 2" D. 4¢




SHORT/EXTENDED ANSWER: SHOW WORKING

A card is chosen from a normal playing pack. Determine the probability that the card

6.
is:
a, The jack of hearts
! /
b7l
b. A heart and a picture card
é_ /
HL -
Q}/\
i
7. A coin is tossed and a dice is rolled.
a. List the sample Spacﬁﬂfiﬂéé tree diagram.
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b. What is the probability of getting 7 6 and a tail?
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8. Simplify
24a% -

> T/

9. Simplify  3°+ (30 (SWLI .. LI

e

10. Write 36¢™ without the negative index.
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SHORT/EXTENDED ANSWER: SHOW WORKING

YEAR S HALF-YEARLY 2017 - Student: - _
. 5. Find the value of x.
SECTION 3: Geometry & Number Teacher: ., 7 Or X+ 2 O ); (2 ™ T l 8 O
i NOT TO SCALE
MULTIPLE CHOICE: CIRCLE THE CORRECT ANSWER ) 14 MARKS ?)1 1 q O - l 3 )
: w
1. A mixed touch football has 4 boys arid 6 girls. The simplest ratio of girls to boys is: %"X — O{ O

{x+20)° P20
‘ 6 Y , : / 2 2 :
A 2:3 B.4:6 A C.6:4 @3:2 I/ * = %O

6. For the diagrarm shown, determine the value of w . Give a reason for your answer.

2. When $650 is increased by 10% then the result decreased by 10% the final amount is: 1 D W — % O (_ AH L S) l
. . s HoTTo ;
%E@%SE % @'@L : sous 50 Tal paraﬂel lnes

A. $60.50 B. $600 C. $650 @3643.50 1/ ' /
’ S
_ w = b

2
3. Whatis the value of x 7

NOT TQ SCALE .
[] 7. TFind the value of y in the following polygon.

(n —2)%[80
(C-2)38D ~ 797 0

7/20”(‘('{5‘;1%3 Y35 “Wé)trz
' J

A.40 B. 50 {d 7o 0. 90 /

“dotsd oy H

4 A What is the value of x + y from the ﬁiagram? ) 8. The exterior angle of a regular polygon is18°, How many sides has-it?—
2 \
GOY koo 560 = [?)

138%x2 = 2¢0
1RO - 7 eomoo
% vy 100 (verk opp)
A.. 90 (B)100 C.180 D. 230




O-GII777 57 .
10O =&y 99y,

9. Write 0.617 as a fraction.

[0. Complete the equivalent rate: }‘

Ismfs= | [y 4

‘\r)h’)/S > km/fh,
lenggOcigqﬁxxmm/hr

Lhoop
Toon = bUm/L e 1

YEAR 9 HALF-YEARLY 2017 STUDENT:

[

’ A

£.3

5 | You are making your own dressing for a salad. Here is a recipe for

4 | Simplify the ratio 32:48 . L
S s )

N ON—CALCULATOR SECTION TEACHER;
(15 MARKS) )
2O ming -
Write ANSWER ONLY in the Answer Column, Show working in the Question column,
Question Answer
1 | Simplify - 17000x200 = ' - ;
plify \]  Bhovooon LYoo o f//j*%
= Lt XL
J 2 | Increase $75 by 10% - T §> 3 O f—
_ - o . 7.5 18
3 .‘1‘1_ . i + N ¥ ) l/ ['7 5" O
l~
The #iafiteter of a microseopic particle is 0.000 072 metres, Write -5 .
the number in scientific notation, 7w 19, % T 5

;E

100 millilitres {mL) of dressing. G
WOm
Salad oil: 80 mL F
Vinegar: 30mL
Saoy sauce: - 1¢ mL
!
How many millilitres (mL) of salad oil do you need to make 150 mL of / :
this dressing? Qo N
T ys
oy
6 | Write an algebraic expression for : 73 ok b
73

“add fwice & to b and divide the result by 5"

7 | Simplify: 5°+ 7 50_ |+t = 9

8 | A coinis tossed 3 times, There are 8 possible outcomes. What is
the probability of getting 2 fails and 1 head in any order? ' g
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9

In a netball competition, each of the 8 teams must play each of the
othe: g tea.\ms once. How many games must be played?

]( %ﬁxﬁ:&é__lg
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10 .{lsrrange the numbers below in ascending order,

I9, 331%, z, 1, 19%
3 "3

11

When £ = 4 and w = — 4, what is the value of 2 +w27

Uy lesico b v~y = (¢

Find the probability of rolling 2 3 on a standard six — sided die?

PLR)= [
o)

The area of g, rectangle is 98 cm?. - -7cm
1108 iy — _

X 7
What is the length of the rectangf;?f the width is 7em? .

A tin contains 15 green, 10 red, 7 black and 18 white jelly beans,
Without looking, Jen takes one jelly bean from the tin, What is the
probability that the jelly bean is red?

5 T =29 44 =50
1O ,

g' Twe mumbers added together equal |, The two nunbers muitiplied
“| together equal —30. What are the two numbers?

-5 6~ f
ThH XG0




